
tl;btl;btl;btl;b 

vspa tl;bvspa tl;bvspa tl;bvspa tl;b 

vspa tl;b vd;gJ KjyPL nra;j my;yJ fld; ngw;w gzj; njhifapd; kPJ khj;jpuk; 
fzpf;fg;gLfpd;w xU tl;bahFk;.  

vspa tl;biaf; fzpg;gpLtjw;F xNunahU #j;jpuk; khj;jpuNk cs;sJ.   

 

vspa tl;bf;fhd #j;jpuk;:                   I = Pnr 

,q;F>        I – tl;b,    

  P – Kjy;,     

  n – fhyk;>     

  r – tl;b tPjk; 

 

cjh  1 :  7% tUlhe;j tl;b tPjj;jpy;> &.3000 ,w;Fupa xU tUlj;jpw;fhd tl;biaf; fzpf;Ff. 

  I = Pnr                        P = 3000,            n = 1 tUlk;,           r = 7 % = 7/100 = 0.07 

    = 3000 x 1 x 0.07                          

    = &.  210  

 

cjh  2 :  8 % tUlhe;j tl;b tPjj;jpy;> &.5000 ,w;Fupa 5 tUlq;fSf;fhd vspa tl;biaf; 
fzpf;Ff.  

  I = Pnr                        P = 5000,            n = 5 tUlq;fs;,           r = 8 % = 8/100 = 0.08 

    = 5000 x 5 x 0.08                          

    = &.  2000   

 

cjh  3 :  12% tUlhe;j tl;b tPjj;jpy;> &.10000 ,w;Fupa 6 khjq;fSf;fhd vspa tl;biaf; 
fzpf;Ff.  

  I = Pnr            P = 10,000,        n = 6 khjq;fs; = 6/12 tUlk;,    r = 12 % =  12/100 = 0.12 

    = 10,000 x 
�

��
  x 0.12                          

    = &.  600  

 

cjh  4 :  10% tUlhe;j tl;b tPjj;jpy; &.24000 ,w;Fupa 2 khjq;fSf;fhd vspa tl;biaf; 

fzpf;Ff. 

  I = Pnr            P = 24,000,        n = 2 khjq;fs; = 2/12 tUlk;,    r = 10 % = 10/100 = 0.10 

    = 24,000 x 
�

��
 x 0.10                          



    = &.  400   

 $l;L tl;b$l;L tl;b$l;L tl;b$l;L tl;b 
 

$l;L tl;b vd;gJ fld; njhifAld; my;yJ itg;Gj; njhifAld; tl;b $l;lg;gl;L me;jj; 
njhiff;F mLj;j Mz;Lf;fhd tl;b fzpf;fg;gLk; Kiw MFk;.  

 

$l;L tl;biaf; fzpg;gjw;fhd #j;jpuk; :                  S = P (1+r)n 

 

,q;F>        S – n vz;zpf;ifapyhd fhyg;gFjpapd; gpd;duhd njhif,  

   P – Kjy;,     

   n – fhyg;gFjpapd; vz;zpf;if>     

   r – tl;b tPjk;. 

 

cjh  1 :  egu; xUtu; 4 Mz;Lfs; fhyg;gFjpf;F tUlhtUlk; $l;lg;gLkhW 12 % vd;Dk; 

tUlhe;j $l;L tl;b tPjj;jpy; &. 25,000 ,id fldhfg; ngw;Ws;shu;. ,e;jf; 
fhyg;gFjpapd; Kbtpy; me;egu; fldpypUe;J tpLgLtjw;fhf nkhj;jkhfr; nrYj;j Ntz;ba 
njhifiaAk; tl;biaAk; fzpf;Ff.  

  S = P (1 + r)n                        P = 25000,            n = 4,        r = 12 % = 12/100 = 0.12 

    = 25000 (1 + 0.12)4    = 25000 x 1.57                         

    = &.  39,250                nrYj;j Ntz;ba nkhj;jj; njhif 

        tl;b (I) = nrYj;j Ntz;ba nkhj;jj; njhif – Kjy; 

          = 39,250 – 25,000    = &. 14,250  

 

 

cjh  2 :  egu; xUtu; 3 Mz;Lfs; fhyg;gFjpf;F MW khjq;fSf;F xU Kiw $l;lg;gLkhW 4 % 

vd;Dk; tUlhe;j $l;L tl;b tPjj;jpy; &. 15,000 ,id fldhfg; ngw;Ws;shu;. ,e;jf; 
fhyg;gFjpapd; Kbtpy; me;egu; fldpypUe;J tpLgLtjw;fhf nkhj;jkhfr; nrYj;j Ntz;ba 
njhifiaAk; tl;biaAk; fzpf;Ff.  

 P = 15000,             

 r = 4 % (12 khjq;fSf;F)   vdNt, r = 
� %

��
 × 6 khjq;fs; = 2 % (6 khjq;fSf;F) = 2/100 = 0.02 

  n = 3 x 2 = 6 (1 tUlk; = 2 MW khjq;fs;, vdNt,   3 tUlq;fs;          3 x 2 = 6 MW 

khjq;fs;) 

   S  = P (1 + r)n   

      = 15000 (1 + 0.02)6    = 15000 x 1.13                         

      = &.  16,950                nrYj;j Ntz;ba nkhj;jj; njhif 

        tl;b (I) = nrYj;j Ntz;ba nkhj;jj; njhif – Kjy; 



          = 16,950 – 15,000    = &. 1,950  

 

cjh  3 :  egu; xUtu; fhyhz;Lf;F xU Kiw $l;lg;gLkhW 12 % vd;Dk; tUlhe;jf; $l;L 

tl;bf;F &. 10,000 njhifia fldhfg; ngw;Ws;shu;. 3 tUlq;fspd; gpd;du; mtu; nrYj;j 
Ntz;ba tl;biaAk; nkhj;jj; njhifapidAk; fzpg;gpLf.  

 P = 10000,             

 r = 12 % (12 khjq;fSf;F)   So, r = 
�� %

��
 × 3 khjq;fs; = 3 % (1 fhyhz;Lf;F) = 3/100 = 0.03 

 n = 3 x 4 = 12 (1 tUlk; = 4 fhyhz;Lfs;> vdNt 3 tUlq;fs;           3 x 4 = 12 fhyhz;Lfs;) 

   S  = P (1 + r)n   

      = 10000 (1 + 0.03)12    = 10000 (1.03)12                         

      = &.  14,257.61                nrYj;j Ntz;ba nkhj;jj; njhif 

         tl;b (I) = nrYj;j Ntz;ba nkhj;jj; njhif – Kjy; 

          = 14,257.61 – 10,000    = &. 4,257.61  

  

cjh  4 :  2017 bnrk;gu; 31 ,y; &. 500,000/- ,idg; ngw;Wf;nfhs;sf;$bathW 2017 rdtup 01 
,y; xU njhifg; gzk; KjyPL nra;ag;gl;lJ. ,e;j KjyPl;bw;fhf khjhe;jk; $l;lg;gLkhW 

13.2 % vd;Dk; tUlhe;j $l;L tl;b tPjj;jpy; tl;b fzpg;gplg;gLfpwJ. 2017 Mk; Mz;L 
fhyg;gFjpapy; <l;lg;gl;l tl;bj; njhifiaAk; KjyPL nra;ag;gl;l njhifiaAk; 
fzpg;gpLf. 

 S = 500,000,             

r = 13.2 % (12 khjq;fSf;F)   So, r = 
�
.� %

�� 
 × 1 khjk; = 1.1 % (1 khjj;jpw;F) = 1.1/100 = 0.011 

 n = 1 x 12 = 12 (1 tUlk; = 12 khjq;fs;) 

   S  = P (1 + r)n   

   500,000 = P (1 + 0.011)12    = P (1.011)12                         

     P = 

��,���

(�.���)��
  =  &. 438,486.41              KjyPl;Lj; njhif 

   vdNt> <l;ba tl;b = 500,000 – 438,486.41  =  &. 61,513.59 

 

 

cjh 5 : egu; xUtu; tUlhe;jk; $l;lg;gLkhW 9 % tUlhe;j tl;b tPjj;jpy; &.140,000/- 

njhifia fldhfg; ngw;Ws;shu;. 2 tUlq;fspd; gpd;du; mtu; kPsr; nrYj;jNtz;ba 
nkhj;jj; njhif ahJ?  

 

  S = P (1 + r)n                        P = 140,000,            n = 2,        r = 9 % = 9/100 = 0.09 

    = 140,000 (1 + 0.09)2    = 140,000 x 1.1881                         



    = &.  166,334                nrYj;jNtz;ba nkhj;jj; njhif 

   

 rPuhd KrPuhd KrPuhd KrPuhd KjyPLfs;jyPLfs;jyPLfs;jyPLfs; 

rPuhd KjyPLfs; ,uz;L Kiwfspy; Nkw;nfhs;sg;gLfpd;wd. 

    (mjhtJ)    KiwKiwKiwKiw 1 :   xt;nthU Mz;bd; ,WjpapYk; nra;ag;gLk; itg;Gfs; 

 

     S  =  
� (����)

(���)
 

  KiwKiwKiwKiw 2 : xt;nthU Mz;bd; Muk;gj;jpYk; nra;ag;gLk; itg;Gfs; 

 

     S  =  
�� (����)

(���)
 

   

        ,q;F,      S = n Mz;Lfspd; Kbtpy; ,Uf;ff;$ba njhif 

   A = Mz;bd; ,Wjpapy; / Muk;gj;jpy; KjyPL nra;ag;gl;l njhif 

   R = r + 1 ,    r = tl;b tPjk;  

   n = fhyg;gFjp (Mz;Lfspd; vz;zpf;if)  

 

cjh 1 :   egu; xUtu; 4 MtJ Mz;bd; ,Wjpapy; &. 100,000/- ,idg; ngw;Wf;nfhs;tjw;fhf 
xt;nthU Mz;bd; ,WjpapYk; xU njhifg; gzj;jpid itg;Gr; nra;fpwhu;. tUlhe;j tl;b 

tPjk; 10 %.  mtuhy; xt;nthU Mz;bYk; itg;Gr; nra;ag;gl Ntz;ba njhif ahJ? 

  S  =  
� (����)

(���)
           S = 100,000     R = 1 + r   = 1 + 10/100    = 1+0.1   = 1.1 

   100,000 =  
� [(�.�)���]

(�.���)
      

    =   
� [(�.�)���]

(�.���)
    

    =   
� [�.������]

(�.�)
   =   

� [�.����]

(�.�)
   

          A =   
���,��� × �.�

(�.����)
   = 21547.08   

 

 

cjh 2 :  8 % tUlhe;j tl;b tPjj;jpy; xt;nthU Mz;bd; ,WjpapYk; &. 12,000/- 

itg;gpyplg;gLfpwJ. 3 Mz;Lfspd; ,Wjpapy; fhzg;glf;$ba njhif vt;tsT? 

  S  =  
� (����)

(���)
          A = 12,000       R = 1 + r   = 1 + 8/100    = 1+0.08     = 1.08 



   S    =  
����� [(�.��)���]

(�.����)
     =   

����� [�.�
� ����]

(�.��)
    

    =   
����� [�.�
� ��]

(�.��)
   = 38,956.8    

 

 cjh 3 :  egu; xUtu; xt;nthU Mz;bd; Muk;gj;jpYk; Nrkpg;Gf; fzf;nfhd;wpy; &.15,000/- ,id 

itg;Gr; nra;fpwhu;. ,e;jr; Nrkpg;Gf; fzf;fpw;fhd tUlhe;j tl;b tPjk; 7 % Mf ,Ug;gpd; 5 
MtJ Mz;bd; ,Wjpapy; Nrkpg;Gf; fzf;fpy; ,Uf;ff;$ba njhif vt;tsT?  

  S  =  
�� (����)

(���)
        A = 15,000      R = 1 + r   = 1 + 7/100    = 1+0.07  = 1.07 

   S    =  
�
��� ×�.�  [(�.� )!��]

(�.� ��)
     

  

     =   
���
� [�.���
]

(�.� )
    

 

           =   92,287.5 

 

 

 

cjh 4 :  egu; xUtu; Fwpj;j Xu; Mz;bd; Muk;gj;jpy; fzf;nfhd;wpy; &. 10,000/- njhifia 

itg;Gr; nra;jpUe;jhu;. mjd; gpd;du; mjpypUe;J NkYk; 3 Mz;LfSf;F xt;nthU 

Mz;bd; Muk;gj;jpYk; &.10,000/- njhifapid mtu; itg;Gr; nra;fpwhu;. 4 
Mz;LfspdJk; Kbtpy; fzf;fpYs;s nkhj;jj; njhif vt;tsT? tl;b tPjk; tUlhe;jk; 

10 % vdf; nfhs;f.  

  S  =  
�� (����)

(���)
         A = 10,000     R = 1 + r   = 1 + 10/100    = 1+0.1     = 1.01 

   S    =  
����� ×�.�� [(�.��)���]

(�.����)
     

  

     =   
����� [�.����]

(�.��)
    

 

           =   41,006 

 

 

cjh 5 :  fpwpf;nfw; mzp xd;W rupahf jw;NghjpUe;J Ie;J Mz;Lfspy; gpujpaPL nra;ag;gl 
Ntz;ba cgfuzk; xd;iw me;j Neuj;jpy; nfhs;tdT nra;tjw;fhd epjpapidj; jpul;l 

vz;zpAs;sJ. me;j Neuj;jpy; mjw;fhfj; Njitg;gLnkd vjpu;ghu;f;fg;gLk; njhif &. 

1,000,000/- MFk;. Ie;J Mz;LfspYk; xt;nthU Mz;bd; Muk;gj;jpy; itg;Gr; nra;ag;gl 

Ntz;ba njhifiaf; fzpf;Ff. ,q;F 9 % tUlhe;j tl;b toq;fg;gLtjhff; fUJf. 

 S  =  
�� (����)

(���)
              S = 1,000,000/-            R = 1 + r   = 1 + 9/100    = 1+0.09     = 1.09 

 

   1,000,000    =  
� × �.�� [(�.��)!��]

(�.����)
     

  



         A      =   
�,���,��� [�.��]

�.�� [(�.��)!��]
    

 

         A      =   
��,���

�.
� �
    

 

      =   153,295.86 

gapw;rpfs;gapw;rpfs;gapw;rpfs;gapw;rpfs; 

01. 8 % tUlhe;j tl;bapy; tq;fpf; fzf;nfhd;wpy; &. 4,000,000/- itg;Gr; nra;ag;gLfpwJ. 4 

Mz;Lfspd; Kbtpy; ,t;itg;gpdhy; fpilf;fg;ngWk; $l;L tl;bf;Fk; vspa tl;bf;Fk; 
,ilapyhd NtWghl;Lj; njhifapidf; fzpg;gpLf.  

 $l;L tl;biaf; fzpj;jy; 

  S = P (1 + r)n                        P = 4,000,000,            n = 4,        r = 8 % = 8/100 = 0.08 

    = 4,000,000 (1 + 0.08)4    = 4,000,000 x 1.3605                         

    = &.  5,442,000                nrYj;j Ntz;ba nkhj;jj; njhif 

        tl;b (I) = nrYj;j Ntz;ba nkhj;jj; njhif – Kjy; 

          = 5,442,000 – 4,000,000    = &. 1,442,000  

 vspa tl;biaf; fzpj;jy; 

  I = Pnr                        P = 4,000000,            n = 4,           r = 8 % = 8/100 = 0.08 

    = 4,000,000 x 4 x 0.08                          

    = &.  1,280,000 

 

 vdNt> ,U tl;bfSf;fpilapYkhd NtWghL = &. 1,442,000 – &. 1,280,000 

                          = &. 162,000  

 

02.  egu; xUtu; tUlhe;jk; $l;lg;gLkhW 12% tl;b tPjj;jpy; tq;fp xd;wplkpUe;J &.500,000/- 

,idf; fldhfg; ngw;Ws;shu;. 2 Mz;Lfspd; Kbtpy; flidj; jPu;g;gjw;fhf nrYj;jg;gl 
Ntz;ba nkhj;jj; njhifapidf; fzpf;Ff.  

  S = P (1 + r)n                        P = 500,000,            n = 2,        r = 12 % = 12/100 = 0.12 

    = 500,000 (1 + 0.12)2    = 500,000 x 1.2544                         

    = &.  627,200                nrYj;jg;gl Ntz;ba nkhj;jj; njhif  

  

03. egu; xUtu; fhyhz;Lf;F xU Kiw $l;lg;gLkhW 8 % tl;b tPjj;jpy; &. 120,000/- 

,idf; fldhfg; ngw;Ws;shu;. 3 Mz;Lfspd; Kbtpy; mtu; nrYj;j Ntz;ba tl;bj; 
njhifapidf; fzpf;Ff.   

                S = P (1 + r)n            P = 120,000,            n = 3 � 4 = 12,        r = 8/4 = 2% = 2/100 = 0.02 



  S  = 120,000 (1 + 0.02)12    = 120,000 � 1.2682                         

    = &.  152,184                nrYj;j Ntz;ba nkhj;jj; njhif 

       tl;b (I) = nrYj;j Ntz;ba nkhj;jj; njhif – Kjy; 

          = 152,184 – 120,000    = &. 32,184  

05. egu; xUtu; 2 Mz;Lfspd; gpd;du; &.750,000/- gzj;ijg; ngw;Wf;nfhs;tjw;F vjpu;ghu;j;J 
xU Fwpg;gpl;l njhifapidj; jdJ Nrkpg;Gf; fzf;fpy; itg;Gr; nra;fpwhu;. mtu; 

,r;Nrkpg;Gf;fhf fhyhz;Lf;Ff; $l;lg;gLfpd;w 12% tUlhe;j tl;bapidg; 
ngw;Wf;nfhs;fpwhu; vdpd; mtu; jdJ Nrkpg;Gf; fzf;fpy; itg;Gr; nra;j njhif vt;tsT? 

                S = P (1 + r)n            S = 750,000,            n = 2 � 4 = 8,        r = 12/4 = 3% = 3/100 = 0.03 

 750,000  = P (1 + 0.03)8                            

              P  =   
 
�,���

 (1.03)8
                 

              P  = 592,042.94                itg;Gr; nra;j njhif 

 

04.   uh[h vd;gtu; fhzp xd;iwf; nfhs;tdT nra;tjw;fhf &.150,000/- ,idr; Nrkpf;f 
vz;zpAs;shu;. mtu; xt;nthU Mz;bd; ,WjpapYk; jdJ tq;fpf; fzf;fpy; xU Fwpg;gpl;l 
njhifia itg;Gr; nra;a vjpu;ghu;f;fpwhu;. tq;fpahdJ mtUila itg;Gf;fhf tUlhe;jk; 

6 % tl;bapid toq;FfpwJ. mtu; xt;nthU Mz;bd; ,WjpapYk; itg;Gr; nra;a Ntz;ba 
njhifiaf; fzpf;Ff.   

              S  =  
� (����)

(���)
         S = 150,000           R = 1 + r   = 1 + 6/100    = 1+0.06     = 1.06 

   150,000    =  
� [(�.��)!��]

(�.����)
     =   

� [�.

��]

(�.��)
    

        A =   
�
�,��� � �.��

(�.

��)
   = 26,611.47 

    

06. &. 480,000/- tUlhe;j thlifapy; tPL xd;W 3 tUlq;fSf;F thliff;F tplg;gLfpwJ. 

,t;thlifahdJ 10% tUlhe;j tl;bia toq;Fk; tq;fp xd;wpy; itg;Gr; nra;ag;gLfpwJ. 
thlifahdJ xt;nthU Mz;bd; ,WjpapYk; nrYj;jg;gLfpwJ. ,e;j thlifapd; %yk; 
tq;fpapy; Nrkpf;fg;gLk; nkhj;jj; njhifapidf; fzpf;Ff.   

              S  =  
� (����)

(���)
         A = 480,000,   n = 3,     R = 1 + r   = 1 + 10/100    = 1+0.1  = 1.1 

                  S    =  
���,��� [(�.�)���]

(�.���)
     =   

���,��� � �.

�

(�.�)
    

  =   &. 1,588,800 

07. epky; vd;gtu; 12 % tUlhe;j tl;biaj; jUfpd;w fzf;nfhd;wpy; %d;W tUlq;fSf;F 

xt;nthU Mz;bd; Muk;gj;jpYk; &. 100,000/- ,id itg;Gr; nra;fpwhu;. %d;W 



Mz;Lfspd; gpd; ,f;fzf;fpypUe;J mtu; ngw;Wf;nfhs;s Ntz;ba nkhj;jj; njhifapidf; 
fzpf;Ff.  

 S  =  
�� (����)

(���)
              A = 100,000/-            R = 1 + r   = 1 + 12/100    = 1+0.12     = 1.12 

 

  S   =  
���,��� × �.�� [(�.��)���]

(�.����)
    =   &. 377,932.8    


